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() EYERFEEDOEE
< LNGF 80 A ffFg > < LPGF 58§ A ffi#& >
62,660 (M/".) X 0.9576 + 52,720 (M/%.)  x 0.0466 = 62,459.968 (1/".)
= 62,460 (/") XI0OMRBEMBZHEA
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< EAEFHRFMEE > < REEHEE >
83,350 (H/%.) - 62,460 (H/*.) = 20,890 (H/%.)
= 20,800 (A/".) X100ARBETET
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< RIS B EE > <HEBE>
20,800 (/%) X 0.081 (F/m) - 100 (/") X (1 4+ 008) = 1819584 (FH/m)
= 1820 (H/m) NN ESRUTEY LT
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<EHEHEHE> <fEBH S Bz EE>
165.96 (F1/m) — 182 (A/m) = 147.76 (F/m)
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<201956 A DX S BE > <20195E5 A DX S HH >
147.76 (F/m) - 148.98 (/m) = A122 (A/m)
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<EXpE> <fERP LI > <AREAE>
1,560.00 (M/A) + 14776 (A/m) X 31(m/8) = 6,140.56 (MA/A8)
= 6,140 (M/A8) XIMERBZEYIET
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